Chapter One

The Nature and Method of Economics

CHAPTER OVERVIEW

This chapter begins with a discussion of the meaning and importance of economics.  In this first chapter, however, we will not plunge into problems and issues; instead we consider some important preliminaries.  We first look at the economic perspective—how economists think about problems.  Next, we state some of the benefits of studying economics.  Then, we examine the specific methods economists use to examine economic behavior and the economy, distinguishing between macroeconomics and microeconomics.  Finally, the problems, limitations, and pitfalls that hinder sound economic reasoning are examined.

. LECTURE NOTES

I. Definition of Economics

A.
The social science concerned with the efficient use of limited or scarce resources to achieve maximum satisfaction of human materials wants.

B.
Human wants are unlimited, but the means to satisfy the wants are limited.

II. The Economic Perspective

A.
Scarcity and choice

1.
Resources can only be used for one purpose at a time.

2.
Scarcity requires that choices be made.

3.
The cost of any good, service, or activity is the value of what must be given up to obtain it.  (opportunity cost).

B.
Rational Behavior

1.
Rational self-interest entails making decisions to achieve maximum fulfillment of goals.

2.
Different preferences and circumstances lead to different choices.

3.
Rational self-interest is not the same as selfishness.

C.
Marginalism:  benefits and costs

1.
Most decisions concern a change in current conditions; therefore the economic perspective is largely focused on marginal analysis.

2.
Each option considered weighs the marginal benefit against the marginal cost.

3.
Whether the decision is personal or one made by business or government, the principle is the same.

4.
The marginal cost of an action should not exceed its marginal benefits.

5.
There is “no free lunch” and there can be “too much of a good thing.”

III. Why Study Economics?

A.
Economics for citizenship.

1.
Most political problems have an economic aspect, whether it is balancing the budget, fighting over the tax structure, welfare reform, international trade, or concern for the environment.

2.
Both the voters and the elected officials can fulfill their role more effectively if they have an understanding of economic principles.

B.
Professional and personal applications

1.
The study of economics helps to develop an individual’s analytical skills and allows students to better predict the logical consequences of their actions.

2.
Economic principles enable business managers to make more intelligent decisions.

3.
Economics can help individuals make better buying decisions, better employment choices, and better financial investments.

4.
Economics is however, mainly an academic, not a vocational subject.  Its primary objective is to examine problems and decisions from a social rather than personal point of view.  It is not a series of “how to make money” examples.

IV. Economic Methodology

A.
Economists use the scientific method to establish theories, laws, and principles.

1.
The scientific method consists of:


a.
The observation of facts (real data).


b.
The formulations of explanations of cause and effect relationships (hypotheses) based upon the facts.


c.
The testing of the hypotheses.


d.
The acceptance, reject, or modification of the hypotheses.


The determination of a theory, law, principle, or model.

2.
Theoretical economics: The systematic arranging of facts, interpretation of the facts, making generalizations.

3.
Principles are used to explain and/or predict the behavior of individuals and institutions.

4.
Terminology—Principles, laws, theories, and models are all terms that refer to generalizations about economic behavior.  They are used synonymously in the text, with custom or convenience governing the choice in each particular case.

5.
Generalization—Economic principles are expressed as the tendencies of the typical or average consumer, worker, or business firm.

6.
“Other things equal” or ceteris paribus assumption—In order to judge the effect one variable has upon another it is necessary to hold other contributing factors constant.  Natural scientists can test with much greater precision than can economists.  They have the advantage of controlled laboratory experiment.  Economists must test their theories using the real world as their laboratory.

7.
Abstractions—Economic principles, theories or models are abstractions, simplifications, which attempt to find the important connections and relationships of economic behavior.  These models are useful precisely because they strip away the clutter and complexity of reality.

8.
Graphical Expression—Many economic relationships are quantitative, and are demonstrated efficiently with graphs.  The “key graphs” are the most important.

B.
Policy economics applies economic facts and principles to help resolve specific problems and to achieve certain economic goals.

1.
Steps in formulating economic policy:

a.
State goals.

b.
Recognize various options that can be used to achieve goals.

c.
Evaluate the options on the basis of specific criteria important to decision-makers.

2.
Economic goals widely accepted in our economy.

a.
Economic growth

b.
Full employment

c.
Economic efficiency

d.
Price level stability

e.
Economic freedom

f.
Equitable distribution of income

g.
Economic security

h.
Balance of trade

3.
Goals may be complementary (full employment and economic security).

4.
Some goals may conflict (efficiency and equity).  (Key Question 6)

5.
All goals cannot be achieved, so priorities must be set.

V. Macroeconomics and Microeconomics

A.
Macroeconomics examines the economy as a whole.

1.
It includes measures of total output, total employment, total income, aggregate expenditures, and the general price level.

2.
It is a general overview examining the forest, not the trees.

B.
Microeconomics looks at specific economic units.

1.
It is concerned with the individual industry, firm or household and the price of specific products and resources.

2.
It is an examination of trees, and not the forest.

C.
Positive and Normative Economics.

1.
Positive economics describes the economy as it actually is, avoiding value judgments and attempting to establish scientific statements about economic behavior.

2.
Normative economics involves value judgments about what the economy should be like and the desirability of the policy options available.

3.
Most disagreements among economists involve normative, value-based questions.

VI. Pitfalls to Objective Thinking

A.
Biases—Preconceptions that are not based on facts.

B.
Loaded terminology.

1.
Terms that contain the prejudice and value judgments of others.

2.
It is very difficult for a person to describe economic behavior without letting their options about that behavior creep into their discussion.  The distinction between positive and normative statements is not always clearly apparent.

3.
Often, however, there is a deliberate attempt to sway opinion by using loaded terminology.  (greedy owners, obscene profits, exploited workers, mindless bureaucrats, costly regulations, creeping socialism)

C.
Definitions

1.
Economics is a second language.

2.
It is often difficult for students to recognize terms as new vocabulary that needs to be studied as diligently as though they had never before encountered the words.

3.
Students in a physics class encountering terms like erg, ohm, or foot-pound recognize the need to investigate.  Students that are reading a text filled with words like rent, capital, or investment assume that they already have an adequate working definition.

D.
Causation Fallacies

1.
Post hoc fallacy:  When two events occur in time sequence, the first event is not necessarily the cause of the second event.

2.
Correlation versus causation:  Events may be related without a causal relationship.

a.
The positive relationship between education and income does not tell us which causes the increase in the other.  (Which is the independent variable and which is the dependent variable?)

b.
It may be that the increase income that occurs with increased education is due to some other third factor that is not under direct consideration.

VII. A Look Ahead

A.
Chapter 2 builds the production possibilities model that visually demonstrates the basic economic principles of scarcity, choice, opportunity cost, and the law of increasing costs.

B.
Chapter 3 builds the supply and demand model for individual markets.

C.
Chapter 4 combines all the markets in the economy and observes the coordination of economic activity through market prices.

D.
Chapters 5 and 6 examine the important sectors of the economy (households, businesses, government, and the international sector) discussing their role and interaction.

CHAPTER TWO

The Economizing Problem

CHAPTER OVERVIEW

This crucial chapter introduces students to a number of important concepts. The first part of the chapter stresses the economizing problem, which results because we have unlimited wants but limited resources.  A discussion of full employment and efficiency follows.  Both productive and allocative efficiency are defined and emphasized as desirable goals.  The production possibilities curve model is introduced to illustrate these important concepts.  Using this model, the concepts of opportunity costs and increasing opportunity costs, unemployment, growth, and present vs. future possibilities are all demonstrated.  Additional emphasis is placed on allocative efficiency, which is a concept new to most students.  Some real-world applications of the production possibilities idea are presented.

The chapter concludes by discussing how market and command economic systems differ, concentrating on who owns the factors of production and the method used to coordinate economic activity.  The circular flow model is introduced to provide an overview of the way a market system operates

LECTURE NOTES

I. The foundation of economics is the economizing problem:  society’s material wants are unlimited while resources are limited or scarce.

A.
Unlimited wants (the first fundamental fact):

1.
Economic wants are desires of people to use goods and services that provide utility, which means satisfaction.

2.
Products are sometimes classified as luxuries or necessities, but division is subjective.

3.
Services satisfy wants as well as goods.

4.
Businesses and governments also have wants.

5.
Over time, wants change and multiply.

B.
Scarce resources (the second fundamental fact):

1.
Economic resources are limited relative to wants.

2.
Economic resources are sometimes called factors of production and include four categories:

a.
Land or natural resources,

b.
Capital or investment goods which are all manufactured aids to production like tools, equipment, factories, transportation, etc.,

c.
Labor or human resources, which include physical and mental abilities used in production,

d.
Entrepreneurial ability, a special kind of human resource that provides four important functions:

i.
Combines resources needed for production,

ii.
Makes basic business policy decisions,

iii.
Is an innovator for new products, production techniques, organizational forms,

iv.
Bears the risk of time, effort, and funds.

3.
Resource payments correspond to resource categories:

a.
Rent and interest to suppliers of property resources,

b.
Wages and salaries to labor resources,

c.
Profits to entrepreneurs.

4.
Quantities of resources are limited relative to the total amount of goods and services desired.

II. Economics:  Employment and Efficiency

A.
Basic definition:  Economics is the social science concerned with the problem of using scarce resources to attain the greatest fulfillment of society’s unlimited wants.

B.
Economics is a science of efficiency in the use of scarce resources. Efficiency requires full employment of available resources and full production.

1.
Full employment means all available resources should be employed.

2.
Full production means that employed resources are providing maximum satisfaction of our economic wants.  Underemployment occurs if this is not so.

C.
Full production implies two kinds of efficiency:

1.
Allocative efficiency means that resources are used for producing the combination of goods and services most wanted by society—for example, producing compact discs instead of long-playing records with productive resources or computers with word processors rather than manual typewriters.

2.
Productive efficiency means that least costly production techniques are used to produce wanted goods and services.

D.
Full production means producing the “right” goods (allocative efficiency) in the “right” way (productive efficiency).  (Key Question 5)

III. Production possibilities tables and curves are a device to illustrate and clarify the economizing problem.

A.
Assumptions:

1.
Economy is operating efficiently (full employment and full production).

2.
Available supply of resources is fixed in quantity and quality at this point in time.

3.
Technology is constant during analysis.

4.
Economy produces only two types of products.

B.
Choices will be necessary because resources and technology are fixed.  A production possibilities table illustrates some of the possible choices (see Table 2-1).

C.
A production possibilities curve is a graphical representation of choices.

1.
Points on the curve represent maximum possible combinations of robots and pizza given resources and technology.

2.
Points inside the curve represent underemployment or unemployment.

3.
Points outside the curve are unattainable at present.

D.
Optimal or best product-mix:

1.
It will be some point on the curve.

2.
The exact point depends on society; this is a normative decision.

E.
Law of increasing opportunity costs:

1.
The amount of other products that must be foregone to obtain more of any given product is called the opportunity cost.  

2.
Opportunity costs are measured in real terms rather than money (market prices are not part of the production possibilities model.)

3.
The more of a product produced the greater is its (marginal) opportunity cost.

4.
The slope of the production possibilities curve becomes steeper, demonstrating increasing opportunity cost.  This makes the curve appear bowed out, concave from the origin.


5.
Economic Rationale:


a.
Economic resources are not completely adaptable to alternative uses.


b.
To get increasing amounts of pizza, resources that are not particularly well suited for that purpose must be used.  Workers that are accustomed to producing robots on an assembly line may not do well as kitchen help.

F.
Allocative efficiency revisited:

1.
How does society decide its optimal point on the production possibilities curve?

2.
Recall that society receives marginal benefits from each additional product consumed, and as long as this marginal benefit is more than the additional cost of the product, it is advantageous to have the additional product.

3.
Conversely, if the additional (marginal) cost of obtaining an additional product is more than the additional benefit received, then it is not “worth” it to society to produce the extra unit.

4.
Figure 2‑2 reminds us that marginal costs rise as more of a product is produced.

5.
Marginal benefits decline as society consumes more and more pizzas.  In Figure 2‑2 we can see that the optimal amount of pizza is 200,000 units, where marginal benefit just covers marginal cost.

a.
Beyond that, the added benefits would be less than the added cost.  

b.
At less than 200,000, the added benefits will exceed the added costs, so it makes sense to produce more.

6.
Generalization:  The optimal production of any item is where its marginal benefit is equal to its marginal cost.  In our example, for robots this must occur at 7,000 robots.

IV.
Unemployment, Growth, and the Future

A.
Unemployment and productive inefficiency occur when the economy is producing less than full production or inside the curve (point U in Figure 2-3).

B.
In a growing economy, the production possibilities curve shifts outward.

1.
When resource supplies expand in quantity or quality.

2.
When technological advances are occurring.

C.
Present choices and future possibilities:  Using resources to produce consumer goods and services represents a choice for present over future consumption.  Using resources to invest in technological advance, education, and capital goods represents a choice for future over present goods.  The decision as to how to allocate resources in the present will create more or less economic growth in the future.  (Key Questions 10 and 11)


(See for example Global Perspective 2-1 where various countries are compared with respect to their economic growth rates relative to the share of GDP devoted to investment.)

D.
A Qualification:  International Trade

1.
A nation can avoid the output limits of its domestic Production Possibilities through international specialization and trade.

2.
Specialization and trade have the same effect as having more and better resources of improved technology.

E.  Examples and Applications



1.
Unemployment and Productive Inefficiency:




a.
Depression




b.
Discrimination in the labor market.


2.
Tradeoffs and Opportunity Costs




a.
Logging and mining versus wilderness.




b.
Allocation of tax resources.



3.
Shifts of Production Possibilities Curve




a.
Technological advances in the U.S.




b.
The effects of war.

H.
See the Last Word on how a large increase in the number of women in the labor force has shifted the production possibilities curve outward.

V.
Economic systems differ in two important ways:  Who owns the factors of production and the method used to coordinate economic activity.

A.
The market system:

1.
There is private ownership of resources.

2.
Markets and prices coordinate and direct economic activity.

3.
Each participant acts in his or her own self-interest.

4.
In pure capitalism the government plays a very limited role.

5.
In the U.S. version of capitalism, the government plays a substantial role.

B.
Command economy, socialism or communism:

1.
There is public (state) ownership of resources.

2.
Economic activity is coordinated by central planning.

VI. The Circular Flow Model for a Market-Oriented System (Key Graph 2-6)

A.
There are two groups of decision makers in private economy (no government yet):  households and businesses.

1.
The market system coordinates these decisions.

2.
What happens in the resource markets?

a.
Households sell resources directly or indirectly (through ownership of corporations).

b.
Businesses buy resources in order to produce goods and services.

c.
Interaction of these sellers and buyers determines the price of each resource, which in turn provides income for the owner of that resource.

d.
Flow of payments from businesses for the resources constitutes business costs and resource owners’ incomes.

3.
What happens in the product markets?

a.
Households are on the buying side of these markets, purchasing goods and services.

b.
Businesses are on the selling side of these markets, offering products for sale.

c.
Interaction of these buyers and sellers determines the price of each product.

d.
Flow of consumer expenditures constitutes sales receipts for businesses.

4.
Circular flow model illustrates this complex web of decision-making and economic activity that give rise to the real and money flows.

B.
Limitations of the model:

1.
Does not depict transactions between households and between businesses.

2.
Ignores government and the “rest of the world” in the decision-making process.

3.
Does not explain how prices of products and resources are actually determined, but this is explained in Chapter 3.

Chapter Three

Individual Markets:
Demand and Supply

CHAPTER OVERVIEW

This chapter provides a basic, but rather detailed introduction to how markets operate as well as an introduction to demand and supply concepts. Both demand and supply are defined and illustrated; determinants of demand and supply are listed and explained. The concept of equilibrium and the effects of changes in demand and supply on equilibrium price and quantity are explained and illustrated. The chapter also includes brief discussions of supply and demand factors in resource markets and the importance of the ceteris paribus assumption.

LECTURE NOTES

I. Markets Defined

A.
A market is an institution or mechanism that brings together buyers (demanders) and sellers (suppliers) of particular goods and services.

1.
A market may be local, national, or international in scope.

2.
Some markets are highly personal, face-to-face exchanges; others are impersonal and remote.

3.
This chapter concerns purely competitive markets with a large number of independent buyers and sellers.

4.
Product market involves goods and services.

5.
Resource market involves factors of production.

B.
The goal of the chapter is to explain the way in which markets adjust to changes and the role of prices in bringing the markets toward equilibrium.

II. Demand

A.
Demand is a schedule that shows the various amounts of a product consumers are willing and able to buy at each specific price in a series of possible prices during a specified time period.

1.
Example of demand schedule for corn is Table 3-1.

2.
The schedule shows how much buyers are willing and able to purchase at five possible prices.

3.
The market price depends on demand and supply.

4.
To be meaningful, the demand schedule must have a period of time associated with it.

B.
Law of demand is a fundamental characteristic of demand behavior.

1.
Other things being equal, as price increases, the corresponding quantity demanded falls.

2.
Restated, there is an inverse relationship between price and quantity demanded.

3.
Note the “other things being constant” assumption refers to consumer income and tastes, prices of related goods, and other things besides the price of the product being discussed.

4.
Explanation of the law of demand:

a.
Diminishing marginal utility:  The decrease in added satisfaction that results as one consumes additional units of a good or service, i.e., the second “Big Mac” yields less extra satisfaction (or utility) than the first.

b.
Income effect: A lower price increases the purchasing power of money income enabling the consumer to buy more at lower price (or less at a higher price).

c.
Substitution effect: A lower price gives an incentive to substitute the lower-priced good for now relatively higher-priced goods.

C.
The demand curve:

1.
Illustrates the inverse relationship between price and quantity (see corn example, Figure 3-1).

2.
The downward slope indicates lower quantity (horizontal axis) at higher price (vertical axis), higher quantity at lower price.

D.
Individual vs. market demand:

1.
Transition from an individual to a market demand schedule is accomplished by summing individual quantities at various price levels.

2.
Market curve is horizontal sum of individual curves (see corn example, Tables 3-2, 3-3 and Figure 3-2).

E.
Class example: This is a good place to involve the class if your classroom setting allows.  Select an item that students typically buy, such as a can of soft drink or donuts.  It works especially well if one student already has the item, and you can use that student for your individual demand schedule.  Select five to ten representative prices for the item and create a demand schedule based on this student’s responses.  It is usually interesting to include the zero price to see how many the student would want if the item were free.  You can then construct an individual demand schedule on board or overhead transparency.  Don’t worry if it isn’t a straight line, it will undoubtedly still represent the law of demand.  If your class isn’t too large, you could then construct a class market schedule using a show of fingers to indicate amounts students would purchase at each price level.

F.
There are several determinants of demand or the “other things,” besides price, which affect demand.  Changes in determinants cause changes in demand.

1.
Table 3-4 provides additional illustrations.  (Key Question 2)

a.
Tastes—-favorable change leads to increase in demand; unfavorable change to decrease.

b.
Number of buyers—the more buyers lead to an increase in demand; fewer buyers lead to decrease.

c.
Income—more leads to increase in demand; less leads to decrease in demand for normal goods.  (The rare case of goods whose demand varies inversely with income is called inferior goods).

d.
Prices of related goods also affect demand.

i.
Substitute goods (those that can be used in place of each other): The price of the substitute good and demand for the other good are directly related.  If price of Budweiser rises, demand for Miller should increase.

ii.
Complementary goods (those that are used together like tennis balls and rackets): When goods are complements, there is an inverse relationship between the price of one and the demand for the other.

e.
Expectations—consumer views about future prices, product availability, and income can shift demand.

2.
A summary of what can cause an increase in demand:

a.
Favorable change in consumer tastes.

b.
Increase in the number of buyers.

c.
Rising income if product is a normal good.

d.
Falling incomes if product is an inferior good.

e.
Increase in the price of a substitute good.

f.
Decrease in the price of a complementary good.

g.
Consumers expect higher prices in the future.

3.
A summary of what can cause a decrease in demand:

a.
Unfavorable change in consumer tastes,

b.
Decrease in number of buyers,

c.
Falling income if product is a normal good,

d.
Rising income if product is an inferior good,

e.
Decrease in price of a substitute good,

f.
Increase in price of a complementary good,

g.
Consumers’ expectations of lower prices, or incomes in the future.

G.
Review the distinction between a change in quantity demanded caused by price change and a change in demand caused by change in determinants.

III. Supply

A.
Supply is a schedule that shows amounts of a product a producer is willing and able to produce and sell at each specific price in a series of possible prices during a specified time period.

1.
A supply schedule portrays this such as the corn example in Table 3-5.

2.
Schedule shows what quantities will be offered at various prices or what price will be required to induce various quantities to be offered.

B.
Law of supply:

1.
Producers will produce and sell more of their product at a high price than at a low price.

2.
Restated: There is a direct relationship between price and quantity supplied.

3.
Explanation: Given product costs, a higher price means greater profits and thus an incentive to increase the quantity supplied.

4.
Beyond some production quantity producers usually encounter increasing costs per added unit of output.


Note:  A detailed explanation of diminishing returns is probably not necessary at this point and can be delayed until a later consideration of the costs of production.

C.
The supply curve:

1.
The graph of supply schedule appears in Figure 3-4, which graphs data from Table 3-6.

2.
It shows direct relationship in upward sloping curve.

D.
Determinants of supply:

1.
A change in any of the supply determinants causes a change in supply and a shift in the supply curve.  An increase in supply involves a rightward shift, and a decrease in supply involves a leftward shift.

2.
Six basic determinants of supply, other than price.  (See examples of curve shifts in Figure 3-4 and summary Table 3-7 and Key Question 5.)

a.
Resource prices—a rise in resource prices will cause a decrease in supply or leftward shift in supply curve; a decrease in resource prices will cause an increase in supply or rightward shift in the supply curve.

b.
Technology—a technological improvement means more efficient production and lower costs, so an increase in supply or rightward shift in the curve results.

c.
Taxes and subsidies—a business tax is treated as a cost, so decreases supply; a subsidy lowers cost of production, so increases supply.

d.
Prices of related goods—if price of substitute production good rises, producers might shift production toward the higher priced good, causing a decrease in supply of the original good.

e.
Expectations—expectations about the future price of a product can cause producers to increase or decrease current supply.

f.
Number of sellers—generally, the larger the number of sellers the greater the supply.

E.
Review the distinction between a change in quantity supplied due to price changes and a change or shift in supply due to change in determinants of supply.

IV. Supply and Demand:  Market Equilibrium

A.
Review the text example, Table 3-8, which combines data from supply and demand schedules for corn.

B.
Have students find the point where quantity supplied equals the quantity demanded, and note this equilibrium price and quantity.  Emphasize the correct terminology!

1.
At prices above this equilibrium, note that there is an excess quantity or surplus.

2.
At prices below this equilibrium, note that there is an excess quantity demanded or shortage.

C.
Market clearing or market price is another name for equilibrium price.

D.
Graphically, note that the equilibrium price and quantity are where the supply and demand curves intersect (See Figure 3-5).  This is an IMPORTANT point for students to recognize and remember.  Note that it is NOT correct to say supply equals demand!

E.
Rationing function of prices is the ability of competitive forces of supply and demand to establish a price where buying and selling decisions are coordinated.  (Key Question 7)

V. Changes in Supply and Demand, and Equilibrium

A.
Changing demand with supply held constant:

1.
Increase in demand will have effect of increasing equilibrium price and quantity 
(Figure 3-6a).

2.
Decrease in demand will have effect of decreasing equilibrium price and quantity 
(Figure 3-6b).

B.
Changing supply with demand held constant:

1.
Increase in supply will have effect of decreasing equilibrium price and increasing quantity (Fig 3-6c).

2.
Decrease in supply will have effect of increasing equilibrium price and decreasing quantity (Fig 3-6d).

C.
Complex cases—when both supply and demand shift (see Table 3-9):

1.
If supply increases and demand decreases, price declines, but new equilibrium quantity depends on relative sizes of shifts in demand and supply.

2.
If supply decreases and demand increases, price rises, but new equilibrium quantity depends again on relative sizes of shifts in demand and supply.

3.
If supply and demand change in the same direction (both increase or both decrease), the change in equilibrium quantity will be in the direction of the shift but the change in equilibrium price now depends on the relative shifts in demand or supply.

D.
A Reminder: Other things equal:

1
Demand is an inverse relationship between price and quantity demanded, other things equal (unchanged).

2.
Supply is a direct relationship showing the relationship between price and quantity supplied, other things equal (unchanged).

3. 
It can appear that these rules have been violated over time, when tracking the price and the quantity sold of a product such as salsa or coffee.

4.
Many factors other than price determine the outcome.

5.
If neither the buyers nor the sellers have changed, the equilibrium price will remain the same.

6.
The most important distinction to make is to determine if a change has occurred because of something that has affected the buyers or something that is influencing the sellers.

7.
A change in any of the determinants of demand will shift the demand curve and cause a change in quantity supplied. (See Figure 3‑6 a & b)

8.
A change in any of the determinants of supply will shift the supply curve and cause a change in the quantity demanded. (See Figure 3‑6 c & d)

VI.  “Other Things Equal” Revisited

A.
Remember that the “laws” of supply and demand depend on the assumption that the “other things” or “determinants” of demand and supply are constant.

B.
Confusion results if “other things” (determinants) change and one does not take this into account.  For example, sometimes more is demanded at higher prices because incomes rise, but if that fact is ignored, the law of demand seems to be violated.  If income changes, however, there is a shift or increase in demand that could cause more to be purchased at a higher price.  In this example, “other things” did not remain constant.

VII. Application: Pink Salmon


A.
This is an example of simultaneous changes in both supply and demand.

B.
An increase in supply occurs because of more efficient fishing boats, the development of fish farms and new entrants to the industry.

C.
There is a decrease in demand because of changes in consumer preference, and an increase in income shows pink salmon to be an inferior good.

Chapter four

the market SYSTEM

CHAPTER OVERVIEW

This chapter begins with a discussion of the institutional framework of the American market system.  Brief explanations are given for these characteristics of the market system: private property, freedom of enterprise and choice, the role of self-interest, competition, markets and prices, the reliance on technology and capital goods, specialization, use of money, and the active, but limited role of government.  In the final section of the chapter, the authors address the Four Fundamental Questions faced by every economy and explain how a market economy answers each one.

LECTURE NOTES

I.
Characteristics of the Market System

A.
Private individuals and firms own most of the private property (land and capital).

1.
Private property, coupled with the freedom to negotiate binding legal contracts, enables individuals and businesses to obtain, control, use, and dispose of this property.

2.
Private property rights encourage investment, innovation, exchange of assets, maintenance of property, and economic growth.

3.
Property rights extend to intellectual property through patents, copyrights, and trademarks.

B.
Freedom of enterprise and choice exist.

1.
Freedom of enterprise means that entrepreneurs and businesses have the freedom to obtain and use resources, to produce products of their choice, and to sell these products in the markets of their choice.

2.
Freedom of choice means:

a.
Owners of property and money resources can use resources as they choose.

b.
Workers can choose the training, occupations, and job of their choice.

c.
Consumers are free to spend their income in such a way as to best satisfy their wants (consumer sovereignty).

C.
Self-interest 



a.
Self interest is one of the driving forces in a market system.  Entrepreneurs try to maximize profits or minimize losses; resource suppliers try to maximize income; consumers maximize satisfaction.



b.
As each tries to maximize profits, income, satisfaction, the economy will benefit if competition is present.

D.
Competition among buyers and sellers is a controlling mechanism.

1.
Large numbers of sellers mean that no single producer or seller can control the price or market supply.

2.
Large number of buyers means that no single consumer or employer can control the price or market demand.

3.
Depending upon market conditions, producers can enter or leave industry easily.

E.
Markets and prices

1.
A market system conveys the decisions of the many buyers and sellers of the product and resource markets.  Recall the demand and supply model in Chapter 3.

2.
A change in the market price signals that a change in the market has occurred.

3.
Those who respond to the market signals will be rewarded with profits and income.

F.
Reliance on technology and capital goods

1.
Competition, freedom of choice, self-interest, and the potential of profits provide the incentive for capital accumulation (investment).

2.
Advanced technology and capital goods uses the more efficient roundabout method of technology.


G.   Specialization

        1.   Division of labor allows workers to specialize.

a.   People can take advantage of differences in abilities and skills.

b.   People with identical skills may still benefit from specialization and improving 

      certain skills.

c.   Specialization saves time involved in shifting from one task to another.

2.
 Geographic specialization: Regional and international specialization take advantage of   

      localized resources.


H.    Use of money as a medium of exchange

1.
Money substitutes for barter, which requires a coincidence of wants.  (I may want what you produce but you may not want to exchange for what I have.)

2.
Willingness to accept money in place of goods permits 3-way trades (or multilateral trades).  See Figure 4-1 and examples in text.

a.
Floridians give money to Nebraskans for wheat who give money to Idahoans for potatoes who give money to Florida for oranges.

b.
Foreign exchange markets permit Americans, Japanese, Germans, Britons, and Mexicans to complete international exchanges of goods and services.

c.
Detroit autoworker produces crankshafts for Buicks.  If the worker were paid in crankshafts, he would have to find grocers, clothing retailers, etc., who would be willing to exchange their products for a crankshaft.  It is much more efficient to use money wages than to accept one’s wages in crankshafts!


I.     Active, but limited government

1.
Although the market system promotes efficiency, it has certain shortcomings (over production of goods with social costs, under production of goods with social benefits, tendency for business to increase monopoly power, macro instability).

2.
Chapter 5 deals with how the government can increase the overall effectiveness of the market system.

III.
The Market System at Work


A.
The market system is made up of millions of individual decision makers who make trillions of decisions all of which are attempting to maximize their individual or business self-interest.


B.
The market is a mechanism by which the consumers and producers can come together to respond to each other’s desires and wants in an efficient way.


C.
Although the focus of this chapter is on the market system, the four fundamental questions must be answered by all economic systems.

1.
What goods and services will to be produced?

2.
How will these goods and services be produced?

3.
Who will get the goods and services?

4.
How will the system accommodate change?

D.
What will be produced?

1.
In order to be profitable, businesses must respond to consumers’ (individuals, other businesses, and the government) wants and desires.

2.
When businesses allocate resources in a way that is responsive, businesses will be profitable and allocative efficiency will be achieved.

3.
Accounting profits are total revenue minus total accounting costs.

4.
In economics, the return to the entrepreneur is treated just like the return to the worker, i.e., it is an economic cost and must be received if the entrepreneur is going to continue to produce in that industry.

5.
Normal profits are the return to the entrepreneur that is necessary for him/her to continue to produce that product.  Any revenue received beyond normal profits is pure or economic profit.

6.
If producers in an industry are receiving pure or economic profits, additional producers will move into the industry, the industry supply will increase, and the price will decrease thus squeezing out the economic profits. Refer to Figure 3-6(c).

7.
If producers in an industry are experiencing economic losses, some of these producers will exit the industry, the industry supply will decrease, and the price will increase thus eliminating the economic losses.  Refer to 3-6(d).

8.
Consumer sovereignty is the key to determining the types and quantities of the various products that will be produced.  “Dollar votes” for a product when purchases are made and “dollar votes” against a product when products are ignored will determine which industries continue to exist and which individual products survive or fail.

9.
Businesses are not really “free” to produce what they wish.  They must match their production choices with consumer choices or face losses and eventual bankruptcy.  Profit-seeking firms must consider the allocation of the “dollar votes” when they make their production decisions.

10.
Resource demand is a “derived” demand, i.e., it depends on the demand for the products produced by the resource.  


E.
How will the goods and services be produced?

1.
The market system encourages and rewards those producers who are achieving productive efficiency, i.e., least-cost production.

2.
Least-cost production techniques include: locating firms in the optimum location considering resource prices, resource productivity, and transportation costs, available technology, and resource prices in general.

3.
The most efficient technique will be the one that produces a given amount of output with the smallest input of scarce resources when both inputs and outputs are measured in dollars and cents.  (Key Question 7)


F.
Who will get the goods and services?

1.
The answer to this question is directly related to how the income is distributed among the individuals and the households and the tastes and preferences of consumers.

2.
Products go to those who are willing and able to pay for them.

3.
The productivity of the resources, the relative supply of particular resources, and the ownership of the resources will determine the income of individuals and households.

4.
The resource markets, which determine income, are linked to this decision.


G.
How will the system accommodate change?



1.
Accommodating changes in consumer tastes and the guiding function of prices:

a.
An increase in demand for some products will lead to higher prices in those markets.

b.
A decrease in demand for other products will lead to lower prices in those markets.

c.
Increased demand leads to higher prices that induce greater quantities of output.  The opposite is true for a decrease in demand.

d.
Higher prices lead to more profits and new firms entering the market.

e.
Lower prices lead to losses and firms leaving the industry.

       2.
The market system promotes technological improvements and capital accumulation.

a.    An entrepreneur or firm that introduces a popular new product will be rewarded with 

       increased revenue and profits.

b.    New technologies that reduce production costs, and thus product price, will spread 

       throughout the industry as a result of competition.  

c.    Creative destruction occurs when new products and production methods destroy the 

       market positions of firms that are not able or willing to adjust.

III.
Competition and the “Invisible Hand”:

A.
Competition is the mechanism of control for the market system.  It not only guarantees that industry responds to consumer wants, but it also forces firms to adopt the most efficient production techniques.

B.
Adam Smith talked of the “invisible hand” which promotes public interest through a market system where the primary motivation is self‑interest.  By attempting to maximize profits, firms will also be producing the goods and services most wanted by society.

chapter five

the U.S. economy: Private and public sectorS

CHAPTER OVERVIEW

This chapter provides descriptive details about both the private sector (households and businesses) and the public sector (government) in our market economy.  The goal is to understand households, businesses, and governmental units as the primary decision makers in our economy.  The circular flow diagram has been expanded to show how the public sector interacts with two parts of the private sector.

LECTURE NOTES

I.
Goals of Chapter

A.
To acquire basic factual information about the household and business components of the private sector economy.

B.
To acquire basic factual information about the public (or government) sector in the U.S. economy.

C.
To understand the role of the public sector in the U.S. economy.

II.
Households as Income Receivers

A.
Functional distribution of income is shown in Figure 5‑1.  (This figure is based on NI—National Income.)

1.
Wages and salaries are 70 percent of total.

2.
Proprietors’ income (income to self‑employed business owners, doctors, lawyers, etc.) is under 10 percent of total.  (This is a combination of wage and profit income.)

3.
Capitalist income—corporation profits, rent, interest—is less than one-fifth of total.  (Note: rent may be negative because of the depreciation charged against rental income.)

B.
Personal distribution of income is shown in Figure 5‑2.  (This figure is based on PI—Personal Income.)

1.
It is often described by dividing the population into quintiles or five numerically equal parts.

2.
Proportions of total income going to each quintile are then compared.

3.
Comparison shows unequal distribution of income.  For example, see how many times greater the share of income going to the top quintile is relative to the bottom fifth.  (Key Question 2)

III.
Households As Spenders (Figure 5-3) (Figure is based on PI—Personal Income)

A.
Use Figure 5.3 or most recent data from Survey of Current Business, January issue of current year, to describe the following.

B.
How do households dispose of their income?

1.
Personal taxes, of which Federal personal income tax is the major component, has increased over the years.

2.
Saving (dissaving if spending exceeds income) is the smallest fraction of personal income disposition.

3.
Most of household income goes to consumer spending (Figure 5.3).  There are several categories of spending categories (Figure 5.4):

a.
Durable goods are those with life of three or more years.

b.
Nondurable goods include things such as food and clothing.

c.
Services are today more than one‑half of all consumer spending, which demonstrates that ours is a service-oriented economy.

IV.
The Business Population

A.
Related definitions:

1.
Plant:  physical establishment where production or distribution takes place (factory, farm, store).

2.
Firm:  business organization that owns and operates the plants.  (The legal entity.)

3.
Industry: a group of related firms, producing the same or similar products.

a.
Examples include the automobile industry or the tobacco industry.

b.
Confusion often occurs because many businesses are multiproduct firms.


      4.   Types of multiplant firms:

a.
Horizontal integrated: a multiplant firm with plants in the same stage, like a retail chain store such as J. C. Penney or Safeway.

b.
Vertical integrated: a multiplant firm in which the company owns plants at different production stages.  Example:  A steel company may own ore and coal mines as well as different plants in different stages of the manufacturing process.

c.
Conglomerate: a firm that owns plants in different industries or markets.

B.
Legal forms of businesses  (Figure 5.5):


1.
Definition:




a.
Sole proprietorship: a business owned by a single individual.


b.
Partnership: two or more individuals own and operate the business in a partnership agreement.


c.
Corporation: a legal entity distinct from its individual owners.  The organization acts as “legal person.”



2.
Discussion of Figure 5-5 relative to most important – percentage of firms versus percentage of sales.



3.
Sole proprietorship




a.
Advantages: easy to set up; proprietor is his/her own boss; because profit is proprietor’s income, there is an incentive to operate the business efficiently.




b.
Disadvantages: financial resources are limited and insufficient; the proprietor is responsible for all of management functions; the proprietor is subject to unlimited liability.



4.
Partnership




a.
Advantages: easy to organize; greater specialization; better access to financial resources than proprietorships.




b.
Disadvantages: some of the same shortcomings of the proprietorship; possible difficulties in sharing management responsibilities; still limited financial resources; problems if one of the partners leaves; still unlimited liabilities.



5.
Corporations




a.
Advantages: improved ability to raise financial capital (money); defining and comparing stocks and bonds; limited liabilities; corporations have a permanence that is conducive to long-run planning and growth.




b.
Disadvantages: red tape and expense in obtaining a corporate charter; unscrupulous business owners sometimes avoid responsibility for questionable business activities.



6.
Hybrid structures



7.
Principle-agent problem

V.
The Public Sector: Government’s Role

A.
Providing the legal structure:

1.
Government ensures property rights, provides enforcement of contracts, acts as a referee and imposes penalties for foul play.

2.
Government intervention improves the allocation of resources by supplying a medium of exchange, ensuring product quality, defining ownership rights, and enforcing contracts.

3.
These interventions widen the market and foster greater specialization in the use of property and human resources.

4.
The appropriate amount of regulation is at the level where the marginal benefit and marginal cost are equal.

B.
 Maintain competition:

1.
Competition is the market mechanism that encourages producers and resource suppliers to respond to consumer sovereignty.

2.
If producers (and/or resource suppliers) have monopoly power, the monopolist can charge higher-than-competitive prices and supplant consumer sovereignty with producer sovereignty (or economic rent).

3.
If “natural monopoly” exists, government regulates price and service.  (Natural monopoly exists when technology or economic realities make a monopoly more efficient than competition.)

3.
Where competitive markets are more efficient, anti‑monopoly laws (Sherman Act of 1890; Clayton Act of 1913) are designed to regulate business behavior and promote competition.

C.
Redistribution of income:

1.
Transfer payments provide relief to the poor, dependent, handicapped, and unemployment compensation to those unemployed who qualify for benefits.  Social Security and Medicare programs support the sick and aged.

2.
Government intervenes in markets by modifying prices.  Price support programs for farmers; minimum wage laws are examples.

3.
Taxation takes a larger proportion of incomes of the rich than the poor.

D.
Reallocation of resources:

1.
Market failure occurs when the competitive market system produces the “wrong” amounts of certain goods or services or fails to provide any at all.

2.
Spillovers and externalities


a.
Spillovers or externalities occur when some of the benefits or costs of production are not fully reflected in market demand or supply schedules.  Some of the benefits or costs of a good may “spill over” to third parties.


b.
An example of a spillover cost is pollution, which allows polluters to enjoy lower production costs because the firm is passing along the cost of pollution damage or cleanup to society.  Because the firm does not bear the entire cost, it will overallocate resources.


c.
Correcting for spillover costs requires that government get producers to internalize these costs.


1.
Legislation can limit or prohibit pollution, which means the producer must bear costs of antipollution effort.


2.
Specific taxes on the amounts of pollution can be assessed, which causes the firm to cut back on pollution as well as provide funds for government cleanup.


d.
Spillover benefits occur when direct consumption by some individuals impacts third parties.  Public health vaccinations and education are two examples.  Because some of the benefits accrue to others, individuals will demand too little for themselves and resources will be underallocated by the market.

e.
Correcting for spillover benefits requires that the government somehow increase demand to increase benefits to socially desirable amounts.


1.
Government can increase demand by providing subsidies like food stamps and education grants to subsidize consumers.


2.
Government can finance production of good or service such as public education or public health.


3.
Government can increase supply by subsidizing production, such as higher education, immunization programs, or public hospitals.


2.
Government provides public goods and quasi-public goods and services.


a.
Private goods are produced through the market because they are divisible and come in units small enough to be afforded by individual buyers.  Private goods are subject to the exclusion principle, the idea that those unable and unwilling to pay are excluded from the benefits of the product.


b.
Public or social goods would not be produced through the market, because they are indivisible and are not subject to the exclusion principle.


1.
A lighthouse is a good example of a public good.  The light is there for all to see whether or not they paid for it.  Those who receive benefits without paying are part of the so‑called free‑rider problem.


2.
Other examples include national defense, flood‑control, public health.


c.
Producers would not be able to find enough paying buyers for “public goods” because of the free‑rider problem mentioned above.  Therefore, “public goods” are not produced voluntarily through the market but must be provided by the public sector and financed by compulsory taxes.


d.
Quasi‑public goods are those that have large spillover benefits, so government will sponsor their provision.  Otherwise, they would be underproduced.  Medical care, education, and public housing are examples.


e.
Resources are reallocated from private to public use by levying taxes on households and businesses, thus reducing their purchasing power and using the proceeds to purchase public and quasi‑public goods.  This can bring about a significant change in the composition of the economy’s total output.

E.
Promoting stability:

1.
An economy’s level of output is dependent on its level of total spending relative to its productive capacity.

2.
The government may promote macroeconomic stability through changes in government spending and taxation.

a.   When total spending is too low, the government may increase its spending and/or lower taxes to reduce unemployment.

b.   When total spending is excessive, the government may cut its spending and/or raise taxes to foster price stability.

VI.
Circular Flow Revisited

A.
Figure 5.6 shows the circular flow model with the addition of the government sector.

B.
There are several modifications to the Chapter 2 model.

1.
Flows (5) through (8) illustrate that government makes purchases and expenditures in both the product and resource markets.

2.
Flows (9) and (10) illustrate that the government provides public good and services to households and businesses.

3.
Flows (11) and (12) illustrate that government receives taxes from and distributes subsidies to households and businesses.

C.   These flows suggest ways that the government might alter the distribution of income, reallocate resources, and change the level of economic activity.

VII.
Government Finance

A.
Government expenditures on goods and services and transfer payments.

1.
Government purchases directly use or employ resources to produce goods or services measured in domestic output.

2.
Government transfer payments are not directly part of domestic output, but include payments like social security, unemployment compensation, welfare payments.

B.
Changes in government purchases of goods and services, expenditures on transfer payments, and total spending as percentages of U.S. output, 1960 and 2000 (Figure 5.7).

C.
Major growth in government spending since the 1960s has been in transfer payment area.

VIII.
Federal Finance (see Figure 5.8)

A.
Expenditures emphasize four important areas.

1.
Income security,

2.
National defense, 

3.
Health, and 

4.
Interest on national debt.

B.
Receipts come from several sources.

1.
Personal income tax is a major source.

a.
The Federal personal income tax is progressive.  People with higher incomes pay a higher percentage of that income as tax than do people with lower incomes.

b.
A marginal tax rate is the rate at which the tax is paid on each additional unit of taxable income (Table 5.1).

c.
The average tax rate is the total tax paid divided by total taxable income.

d.
A tax whose average tax rises as income increases is progressive.

2.
Payroll taxes, such as social security contributions, are a close second as source of revenue.

3.
Corporate income taxes on corporation profits are the third largest source of revenue.

4.
Excise taxes are similar to sales taxes on specific commodities, like alcoholic beverages, tobacco, and gasoline.  They are levied at the wholesale level, so are hidden from the consumer.

C.
Global Perspective 5-2 shows that Australia, the United States, and Japan enjoy relatively low tax burdens.

IX.
State and Local Finance

A.
State expenditures and receipts for all states in 1998 are illustrated in Figure 5.9.

1.
State revenues primarily come from sales taxes and secondly from personal income taxes.

2.
State spending goes for public welfare, education, highways, and health care.

B.
Local expenditures and receipts for all local governmental units in 1996 are shown in Figure 5.10.

1.
Revenue is primarily from property taxes.

2.
Spending is primarily on education.

3.
Gap between local tax revenues and spending is largely filled by grants from state and Federal government.  (This system of intergovernmental transfers is called fiscal federalism.)

X.
LAST WORD:  The Financing of Corporate Activity

A.
A major advantage of corporate form of organization is the ability to finance operations through sale of stock and bonds.  This Last Word examines corporate finance in more detail.

B.
There are three ways to finance corporate activity:

1.
Internally out of undistributed profits,

2.
Borrowing from financial institutions, and

3.
Issuing stocks and/or bonds.

a.
Common stock is a share of ownership in the corporation and gives the holder a voting right and share of dividends.

b.
A bond is an IOU whereby the corporation promises to pay the holder a fixed amount in the future plus annual interest.

C.
Differences between stocks and bonds:

1.
Bondholder is not an owner, only a lender.

2.
Bonds are less risky usually because of certain factors.

a.
Bondholders can claim interest payments before stockholder dividends are calculated.

b.
Interest is guaranteed as long as company is healthy, whereas dividends depend on profits.

3.
Risks involved with bonds include:

a.
Capital risk, which means that the market price of a bond can change if market interest rates change and a holder needs to sell a bond before its maturity date.  Note that the market price of a bond varies inversely with market interest rates.

b.
Risk of unexpected inflation means that the purchasing power of the bond will fall because its interest rate is less than the inflation rate.

chapter six

the united states in the global economy

CHAPTER OVERVIEW

This chapter introduces the basic principles underlying the global economy; a more advanced discussion of international economics follows in Part Eight.  The growth of world trade, and the United States’ role in it, is examined first.   The concept of comparative advantage is introduced as the basis for world trade followed by a discussion of foreign currencies and international exchange rates.  Restrictive trade practices are examined, and this leads to a discussion of multilateral trade agreements and free-trade regions of the globe.  The chapter concludes with an update of how well U.S. firms are competing in an increasingly competitive global economy.

LECTURE NOTES

I.
Introduction

A.
Even on a wilderness backpacking trip, Americans are not leaving the world behind.  Much of backpacking equipment may be imported, not to mention the vehicle they used to arrive at the trail, the coffee they sip, etc.

B.
Many “American” products are made with components from abroad or are manufactured there.  For example, the Chevrolet Lumina is made in Canada; the Gerber baby food company is owned by a Swiss company; Burger King is owned by a British corporation.  The component parts of many “American” products are manufactured abroad.

II.
Linkages


A.   Several economic flows link the U.S. economy with the economies of other nations.


B.   These linkages are:



1.
Goods and services flows;



2.
Capital and labor (resource) flows;



3.
Information and technology flows;



4.
Financial flows.

III.
U.S. and World Trade

A.
Volume and Pattern: 

1.
Table 6.1 gives an index of the importance of world trade to several countries.

2.
Figure 6.2 reveals the growth in U.S. imports and exports over past decades.  Currently, exports and imports are 12 percent and 17 percent of GDP, which is more than double their importance of twenty-five years ago.

3.
The U.S. is world’s leading trading nation, although its share has diminished from post- World War II level of one-third of total trade to one-eighth today.

B.
Dependence:

1.
U.S. depends on imports for many food items (bananas, coffee, tea, spices); raw silk, diamonds, natural rubber, much petroleum.

2.
On the export side, agriculture relies on foreign markets for one-fourth to one-half of sales; chemical, aircraft, auto, machine tool, coal, and computer industries also sell major portions of output in international markets (see Table 6-2).

C.
Trade pattern:

1.
The U.S. has a trade deficit in goods.  In 1999 U.S. imports exceeded exports of goods by $346 billion.

2.
While we have a deficit in goods trade, U.S. export of services exceeds the import of services by $81 billion.

3.
The U.S. imports some of the same categories it exports.  Specifically, automobiles, computers, chemicals, and semiconductors.  (See Table 6‑2)

4.
Most U.S. trade is with industrially advanced countries.  (See Table 6‑3)

5.
Canada is the United States’ most important trade partner quantitatively.  Twenty‑four percent of U.S. exports sold went to Canadians, who in turn provided 20 percent of U.S. imports.  (See Table 6‑3)

6.
The U.S. has sizable trade deficits with Japan and China.  In 1999, the U.S. trade deficit with Japan was $75 billion.  There was also a sizable trade deficit with China.  (See Table 6‑3)

7.
In 1999 the U.S. imported $24 billion of goods (mainly oil) from OPEC nations, while exporting $12 billion to those countries.

D.
Financial Linkages: (International trade implies complex financial linkages among nations.) Trade deficits must be financed by borrowing or earning foreign exchange, which is accomplished by selling U.S. assets through foreign investment in the U.S.  The U.S. borrows from citizens of other nations; the U.S. is the world’s largest debtor nation.

E.
Facilitating factors that explain the growth of trade:

1.
Transportation technology has improved over the years.

2.
Communications technology allows traders to make deals in trade and global finance very easily.

3.
Trade barriers declined dramatically since 1940, and the trend toward free trade continues.

F.
Participants in international trade:

1.
Global Perspective 6-1 shows the major participants in world trade.

2.
New participants have become important, especially the Asian countries of Hong Kong, Singapore, South Korea, and Taiwan.  China is also emerging as important in global trade.  Collapse of communism has led to the emergence of former Soviet republics and Eastern bloc countries as world trade participants.

IV.
Specialization and Comparative Advantage

A.
The U.S. is referred to as an “open economy” when it is placed in the global economy.

B.
Adam Smith observed in 1776 that specialization and trade increase the productivity of a nation’s resources.  His observation related to the principle of absolute advantage whereby a country should buy a good from other countries if they can supply it cheaper than we can.

C.
Basic principle of comparative advantage was first observed and explained in early 1800s by David Ricardo.  This principle says that it pays for a person or a country to specialize and exchange even if that person or nation is more productive than potential trading partners in all economic activities.  Specialization should take place if there are relative cost differences in production of different items.

D.
Example:  A CPA can paint her house faster and better than a painter.  She earns $50 per hour as accountant and can hire a painter for $15 per hour.  The CPA can do the painting job in 30 hours; it takes the painter 40 hours.  Should she hire the painter?  On economic grounds, the opportunity cost is greater for the accountant to paint her house.  She is better off to specialize in accounting rather than sacrifice 30 x $50, or $1500, to paint her house, when she can hire the painter for 40 x $15, or $600.  The accountant will gain, and the painter will also gain because he is very inefficient in accounting.  It may take him 10 hours to prepare his tax return which would mean 10 x $15, hours or $150, in opportunity cost, whereas the accountant could probably complete the forms in 2 hours for a cost of $100.  This example shows that even if a person (the accountant) has an absolute advantage in production of two products (painting and accounting), it is still advantageous to specialize and trade.  The same is true for nations.

E.
Comparative advantage and terms of trade:  Tables 6-4 and 6-5 illustrate the principle of comparative advantage for two countries, U.S. and Mexico, with a simplified example.  In Mexico, the opportunity cost of 1 ton of soybeans is giving up 4 tons of avocados.  In the U.S., the opportunity cost of 1 ton of soybeans is 3 tons of avocados.  In other words, the comparative cost of soybeans is less in U.S. than in Mexico when the alternative is producing avocados.  Thus the U.S. should specialize in soybeans, and Mexico should specialize in avocados.

1.
If the two nations specialize according to comparative advantage, then to get the other product they must trade.  A nation has a comparative advantage in some product when it can produce that product at a lower domestic opportunity cost than can a potential trading partner.  

2.
Table 6-6 summarizes which nation has a comparative advantage in each product.

3.
The rate of exchange of these two products will be determined through negotiation; the outcome is called the terms of trade.  

4.
 The terms of trade will be limited by the relative costs of production within each country.  The U.S. will not forgo more than 1 ton of soybeans to get 3 tons of avocados and Mexico will not give up more than 4 tons of avocados for 1 ton of soybeans.  

5.
Somewhere between these limits, trade is possible.  In the text example, the terms of trade are assumed to be 3.5 tons of avocados for each ton of soybeans.  Americans would specialize in soybeans only if they could obtain more than 3 tons of avocados for 1 ton of soybeans by trading with Mexico.

F.
Gains from specialization and trade:

1.
Table 6-7, column 1, shows the optimal outputs for Mexico and U.S. in soybeans and avocados before specialization and trade.

2.
Column 2 of Table 6-7 shows the amount each country produces when it specializes.

3.
Column 3 of Table 6-7 shows quantities in each country after trade takes place at the rate of 1S = 3.5Av.

4.
Mexico will give up 35 tons of avocados for 10 tons of U.S. soybeans.

5.
Now each country will have more than they had originally:  Mexico now has 25 tons of avocados left plus 10 tons of soybeans.  U.S. now has 35 tons of avocados and keeps 20 tons of soybeans.  Mexico has gained 1 ton of each; U.S. has gained 2 tons of avocados and 1 ton of soybeans, and these gains have occurred using the same resources as before specialization.

6.
This example illustrates that specialization and trade can improve overall output even when one country (U.S.) can produce more of both items compared to the other without trade.  Specialization and trade have the same effect as an increase in resources or technological progress.  (Key Question 4)
V.
Foreign Exchange Markets

A.
In a foreign exchange market, various national currencies are exchanged for one another so that international trade can take place.  Germans want euros, Mexicans want pesos, and the Japanese want yen when they sell their products.

B.
Two points require emphasis with respect to these markets.

1.
Real‑world foreign exchange markets are competitive, with large numbers of buyers and sellers dealing with a standardized product, the currency of some country.

2.
Exchange rates link domestic (one country’s) prices with all foreign prices.  They enable you to translate the price of foreign products into dollars.  For example, if the dollar/yen exchange rate is 1 cent/per yen, a Sony T.V. set priced at ¥20,000 will cost an American $200 = (20,000 x .01).

C.
The dollar‑yen exchange market is depicted in Figure 6.3.  The demand for yen and the supply of yen curve will establish the equilibrium dollar price of yen.

D.
Changing rates: Appreciation and Depreciation.

1.
If the demand for yen rises, the dollar price of yen rises.  That means the dollar depreciates relative to the yen.  This could happen for many reasons including an increase in U.S. incomes that enables Americans to buy more Japanese goods, or an increase in preference for Japanese products.  The result is that Japanese goods would become more expensive to Americans and U.S. products would become less expensive to us.  (See Figure 6‑4.) 

2.
If the opposite occurred and Japanese incomes increased more than U.S. incomes and/or Japanese preferences for U.S. products increased, then the dollar would appreciate relative to the yen as the yen supply increased.  Americans will purchase a greater quantity of Japanese products because they have become less expensive in dollar terms.  (Key Questions 6 and 7)

3.
Chapter 38 has more detailed explanations of the foreign exchange markets.

VI.
Government and Trade

A.
Several trade impediments are sometimes enacted by governments.

1.
Protective tariffs are excise taxes or duties on imported goods.  Governments enact these tariffs to protect domestic producers by making foreign goods more expensive.

2.
Import quotas are maximum limits on the number or total value of specific imports.  Once quotas are filled, no more imports are allowed into the country.

3.
Nontariff barriers include licensing requirements, unreasonable standards, and unnecessary bureaucratic “red tape.”

4.
Governments have used export subsidies to promote the sale of products aboard.

B.
Why do governments enact trade barriers?

1.
They don’t understand the benefits from international trade and see only the damage in certain industries that can’t compete successfully with imports.

2.
Political considerations are important because consumers don’t see the effects of a tariff or quota directly, but they do see the impact of import competition on some workers.  Also, the benefits of free trade tend to be spread among all consumers, but the benefits of a protective policy are realized almost immediately in the short run by the affected industry may have a large and vocal stake in the outcome.


C.
Trade barriers hurt American consumers who must pay higher than world prices.  Interference with international trade through protective tariffs and quotas is shown to cost society more than the benefits that are received by the protected firms and workers.

VII.
Multilateral Agreements and Free-Trade Zones

A.
Trade barriers can cause a “trade war,” in which all nations retaliate with trade barriers of their own.  The Smoot-Hawley Tariff Act of 1930 was a classic example of this.  It prompted other nations to increase tariffs and global trade fell as well as U.S. output.  (See Figure 6-5.)

B.
Reciprocal Trade Agreements Act had the goal of reducing tariffs.
 

1.
It gave the President the power to negotiate reductions up to 50 percent if the trading partner also reduced its tariffs.

2.
It included “most-favored-nation” clauses in agreements so other nations also benefit when negotiations succeeded with one particular country.  For example, if the U.S. negotiated a reduction in tariffs with France, to lower American tariffs on French imports, the imports of other nations having most‑favored‑nation status, say, Sweden would also be reduced.

C.
The General Agreement of Tariffs and Trade (GATT):


1.
In 1947 after WWII, the U.S. signed an agreement to negotiate reductions on a multilateral basis.  Twenty-three nations originally signed, but now 128 nations belong to GATT.


2.
The latest round of GATT negotiations was the eighth set of negotiations.  It began in Uruguay in 1986 and concluded at the end of 1993.  The agreement was passed by Congress in the fall of 1994, went into effect in 1995, and will be phased in through 2005.  Its major provisions include the following.


a.
Tariff reductions will average 33 percent.


b.
Services are included in the treaty’s trade rules.


c.
Quotas on textiles and apparel imports will be replaced by tariffs and these, too, will be eliminated gradually.


d.
Agriculture will also be affected with members agreeing to cut subsidies to agriculture and quotas on agricultural imports.


e.
Intellectual property will be protected by international patent, trademark, and copyright agreements.


f.
When fully implemented, experts estimate the GATT agreement will boost world GDP by $6 trillion or 8 percent, and U.S. consumers will save about $30 billion each year.


D.
World Trade Organization (WTO)

1.
The Uruguay Round of the GATT established the WTO as the GATT’s successor.

2.
The WTO oversees trade agreements and rules on trade disputes.

3.
Critics of the WTO are concerned that the rules crafted to expand trade and investment enables firms to circumvent national laws that protect workers and the environment.

4
Proponents argue promotion of free trade will raise output and incomes and that the higher standards of living will likely result in more protections for workers and the environment.

E.
European Union (EU):


1.
In many regions of the world, countries have formed free-trade zones to reduce tariffs.

2.
The EU, formed in 1958 as the Common Market, now is comprised of 15 western European countries.


F.
The Euro:

 1.
The euro is a currency established by the EU that is now being used by eleven of the fifteen EU nations.

2. 
Starting in 1999, the euro has been used as electronic payments for credit card purchases and transfer of funds among banks.

3. 
By July 2002, only the euro will be accepted for payments in the EU countries that have     adopted the currency.

G.
North American Free Trade Agreement (NAFTA):

1.
This free-trade zone was established in 1993 among Canada, U.S. and Mexico with about the same combined output as EU, but a larger geographical area.

2.
Free trade with Mexico was controversial because critics fear a loss of American jobs as firms can move to Mexico more easily.  Also, they fear Japanese and South Korean firms will build plants there and import goods duty-free to U.S.

3.
The increased trade has increased domestic employment, reduced unemployment, and increased the standard of living in all three countries.

VIII.
Increased global competition

A.  Although imports of many products have decreased the share of American firms in the U.S. market, hundreds of U.S. firms have prospered in the global market.

B.   Although some domestic producers will get hurt and their workers will have to find        employment elsewhere, freer trade benefits the consumer and society.
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